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BER  ATEIIBEIFSB A 7 % EFbhbEDL oL ATWMEIIAIBES B 42 %4 RE

| | SR VAR = I VY

fh H FEEM | BE ] ® E Z fE T H FEEM | B AL | B E %
S WA A 200 g 97 86 | /N ALA =5 5 kel 7,560 2,160
LA = B 200 g 108 — | ==K — — —
TEoR FOERL 200 g 54 43 | N A — — —
EONAE D = B 200 g 86 64 | B b FOER L 4 ke 4, 320 2, 700
BFh&E = R 8 kg 3, 780 1,080 | 7o vzT7 = B 300 g 388 270
LA XL K K 160 g 118 108 | E& x B 350 g 648

— - - — — Wb LKL = B 400 g 702 648

i AN JbvEE 10 ke 1, 080 864 | T—IA A1 = &N 9 ke 5, 940
WA CA = 10 ke 2, 592 1,620 || U s B 15.5 ke 5, 184
k< &N £ % 15 ke 1, 620 972 |
E e V4 S-S 10 ke 1,296 .1 972
L& R &= % 10 ke 1,555 648
ZwwIoY ™ B 5 ke 2, 592 -
ASrh = B 5 ke 1,728 —
= b = A 4 ke 1,512 864
B— N5 150 g 70 —
AR P &= I 10 ke 5, 400 2,916
mERE k E 10 ke 1,944 1,728
A LWzt B 100 g 194 97
E3oYia ) as 1 ke| 27,000 10, 800
LD £ % 75 45

100 g
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B . AWEIIEIRERLL 2 % # & [Etm 25 t ] [ v 7t} [#5-F 10 t ]
- B4 B (BliAA)
it A 1=} +-
fm. H FEEHM | B | & E %= B M H FEEH | B | & E Z E
EESAHE PR 1 ke 2, 052 1,296 | Y4 F Y 1 ke 2, 592 1, 080
BESAE RYEE 1 ke 1,134 324 | YN J Y — 1 ke 1,512 648
V% oW 1 ke 1,665 | - 366 | #T = TAUT 1 kg 2, 160 1, 080
oS 2 1 ke 2, 592 162 || AH | FORR L 1 ke 1, 404 —
AT AbigiE 1 ke 1,728 162 | FU A B 1ke | 4,320 1, 728
Z)VA AT — — — — | BTV~ JevgE 11 248 162
{EN<T m 5 1 kg 1,728 702
&5 A = I 1 ke 1,728 540
&4 o £ E 1 ke 2, 160 864
INTE w5 1 ke 2, 700 216
7YY = 1 kg 1, 620 594
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